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DEPARTMENTAL EXAMINATIONS

DEPARTMENTAL TEST FOR EVALUATION AND APPLIED RESEARCH
DEPARTMENT

(Without Books)

Maximum Time : 30 minutes Maximum Marks : 20

IMPORTANT INSTRUCTIONS

OBJECTIVE TYPE
QamerEM cuend 63l Tss T

Read the following instructions carefully before beginning to answer the questions.
lamés@sse elawallss GgTmiEh gpey SPEHGETL 21 HleUenTHEET HSEURTLDTE Lilg&HHaLD.

NB: Words of masculine gender in these instructions shall, where the context so
require, be taken to include feminine gender.
Qbs ofemssde e urdaian amimgsaid, GrasGspu Comaeuliuger Guer
unederflen euTTHanssEhd LG, - ,
This booklet should not be opened till the Invigilator gives a signal to open it. As
soon as the signal is received you should open the booklet and then proceed to
answer the questions.
Qs eflamssmneuaer sansrafiuiurerflen  ogwd QupeaushE et SHpsssalng.
ST & TGl |LILITGTT aﬂmn‘é';@g,n@mlﬂlmm SnLLsHE iand iaigge L e AemsEsr@libean Snbg)
ellenLwieflés Qgmirigamd. '

1.  This question booklet contains 20 number of objective type questions. Prior to attempting to
answer, the candidate is requested to check whether all questions are there and ensure that
there are no blank pages in the question booklet. In case, if any defect is noticed in the
‘question paper; it shall be reported to the Invigilator immediately, within first

10 minutes after which no request will be entertained.

Qeualersgrar 20 Qomer@d elms Aanrssmer QanamLg. eAamemiugryiser el walés
Qs aper, eflammggraiied eradan eflaméaEnd GLm Qupmeraraeur ereniansuib, gGsaib Ha
LGsmsar /| elemsser FHL_ LT aﬂ@uﬁ@@hmmmn gratuamgwb FHuTTEgd QamererayLb.
adlamgsraiier gGsaib Geop @Liden lemmggrenars Qupp Gen LSE BIOILRISEREGET 2ienD
sansraiiureri_ Qsfelss Caua(b. 2isnE WpeE sfalsaiuBn Camflsmasst ggib ghmé

QamarariuL T LTg).

2. Answers all questions. All questions carry equal marks.
Siemarsgl eNeanésEnsEL MevLweflss Couam(Bd. Hemansg eSleanmssEshd FLoWwiTer o H LG UGTESET

Q& memT_enal.
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9.

Candidate must write his Register Number in the space provided on the top right side of this
booklet alone. Do not write anything else on the Question Booklet.

eflamaniugnyfer ufHCeuamenan @eielarmssraier G g LsasHo AsHEsE pgdaliul [Hdrer
QL sdle arps Couam@id. ellargsmafie Gaum eTeh S| 6T(LHSE Fnl_mg).

The sheet before the last page of the question booklet shall be used for any rough work.
alanrssrafien sen & LGsSHDE pen UssSHO rough work erpd) unises 2 LCLITASEE Qardrareib.

(a) Each question comprises of four responses i.e. (A), (B), (C), and (D). Candidate shall
select only one correct response. In case, if the candidate feels that there are more than
one correct response, shade the response which he considers is the best.

(b) In any case, a candidate shall choose only one response for each question.

(¢) If more than one answer is shaded for a question, the answer will be treated as

wrong and no mark will be given for that question.

(d) The total marks will depend on the total number of correct responses marked in the
OMR answer sheet. (For this purpose, only one shaded circle for a question will be taken
into account for awarding mark)

(@) gaGerm amelnen A), B), (C), (D) e preng eSevrsdar Garhasiul HeTerg).
erentiugny Sieupier gCsend e sflwrer el ews Gsie) daiw GCeuamr(Hib. RATDISESE
Cupul L sflwrer ellenser g elemalpeg Q@mUusts smblamd, euphled ereuaiamL Was
sflureng eren smg S HiTsGart, Sjecuaiananw Blpalll B srL Geuam({Hib.

_(b) ereuaunMplifabd, ¢ elermaing @Gr e ellammwug grer Carhbos(Hss GaemHib.
©) on Nardlpg qamée CopulL el mseld daLwaflésiiul iy mbsre SiduaflanL

SUDTESTS &HSIULMH, dsuellarmelng wHiG U euPRSILIL DT TS

(d) OMR &erg srafldd @hssiul L. eflurar eflansener Qummsg, Cwrss WwEHUGLETEET
aupiisIL@L (¢ elamelne @ el L8l (@Mind L) Bpell L efen o HiGw wdiCua
euLprIs sanTsdle eT(HHgls Gamarariu(Hib).

Do not mark the answers in the Question Booklet.
Nennssrafledr eflen_semard GHLIGALE sl g).

Candidate shall not remove or tear off any sheet from this question booklet. During the
examination he is not allowed to take the question booklet out of the examination hall. Only
after the examination is over, he shall be allowed to take the question booklet.

eflamemriiugry, elemmssrellen ehs @ LsssmsLD, Béatar dag APYssCar aming. Gsial
peoLQumb Gung), edamggramer Caiia snfamsell B QeaualiGu aBés Csde gl dowing.
Carey apighg WeranGr eflamgsranar er(H&siE HFwa signdésiBeur.

Failure to comply with any of the above instructions will render you liable to such action or
penalty as the Commission may decide..

 Guopsar.  siflagjarsaie gCsaund BSpuu@Goureamd GCgreuremeanmuid HEGD  SeLene /

BLeulgbm&sE 2 aanTs CrflHLm.

In case of doubt, English version is the final.
efarmsseala snCsa0mUG, @phidle g eile Aarasul Rarar efamésGar @nidlurearg).
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The physiocrats considered only the following as productive occupation

(A) = manufacturing industry v B) agriculture
(C)  service sectors ‘ ' (D) soldiers
gwﬂvmwwﬁm 2 HUSSE Apmflés ey sGALE)
A) 2pusdHs Gsmde (B) Geuarmeammenio
© Comapgon D) v ey

Refers to the rate of death occurring per thousand new born babies .

(A)  Natality (B) Mortaliﬁy
0  Infant mortality (D) Death rate
- 9uinb IpsED GRb@SEERHE @D eisb arang)
(A)  Qmiy (B)  2uQmLer Gmpiiy

© oybios Inseb Cung @ops Gpoy (D) Goi eisd

The planning commission of India defined poverty on the basis of

(A) income (B) consumption
‘/@) calorie intake of food (D) employment

@rHwus AL &G ‘Theowanw’ Qlga éuormuml_uﬁ]sb @qumg}iégjwm@

(A)  eumwrand (B) msrey

(C) o ewreyQurmeT epevtd @umid &Gamf (D) Geueneveumiiip]

The difference between NNP and NDP is
(A)  depreciation '
(B)  current transfer from rest of the world
(C)  indirect tax
‘/@) net factor income from abroad
Harpr @ 2-pusdéEn (NNP) ey 2 aipr () 2 HUSHEEGD @en_Guw 2_arer GeumumLreng,
(A)  Gsliomabd |
(B) ~ s adear Apugdsailalphg BLLIL LTHDLD
(C) wepepseul :
(D) Gouall prpaEafadmbg euHd Barsstrenfl aumeum
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D. There was plan holiday in India from
V) 1966-69 (B) 1961-63
(C)  1980-84 (D) 2002-2004

Qrdureile S eNBupenn Siefldaiiul L sras b

(A) 1966-69 (B) .1961-63
©) 1980-84 _ (D) 2002-2004
6. The birth of economics of education was announced by
(A)  Marshall : (B) - Karl Marx
VO  Schultz (D) Keynes °
sl updlw Qurpeflwene 2 (Heursdluieum
(A) ey (B) &mped womiden
(C)  dvsdLev (D)  Eens
7. Median can be located graphically with the help of
(A) histogrém v/@) Ogives
(C)  bar diagram (D) scatter diagram

G Blaney eTeneuuer eu(pLd euenrLILSEle apaid saTddl (LplgujLd

(A)  upeue QeciealsILILID B) . a6y

(C)  ulenL eflaréslLL b (D) Sspe eflardgsliuib
8. Which measure of dispersion ensures highest degree of reliability?

(A) - range (B)  mean deviation

© QD , M) SD

D HBBDLISES SEMEN DL D eTEHGD HFD eTanaung)?

A) s | - (B)  spref eevdsid

(©) ST LTI V&S D) AL eflewésid
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10.

11.

12.

If cov (x, y) = 0 then

(A) xand y are correlated

(B\ x and y are uncorrelated
(©)

only x correlated
(D) x and y are linearly related
cov (%, y) = 0 erafléd .
@A) xwoppb y be @ Gu

B) xwpmby & QaGu @L@ﬁ)m Qéemea

(C) xQsrfyeLwg
O x ¥ G;r;ﬁr Carl_ (s Csm_ryepL g

The author of scarcity definition is

(A) Adam Smith B)

(C)  Alfred Marshall - D)
: HeoLLIL(men o) edsan e a{,‘@ﬁlmr’r-

A)  Lib vl (B)

©) S0 LT (D WMTaped (D)

‘Samuelson

_Lionel Robbins

ampGeucv&a

Qewiard Fmleme

The basic force that drives the capitalist ecdnomy 18

(A) . planning

®3)

technology

(C) government ./m) profit-motive

apseoralggaudms QuEED SlglLmL FESwNs eflaTiGeug)

@) Aiidie (B)
©)  <irs (D)
Utility is a

(A)  social concept ‘ﬂ
(C) political concept (D)
LIWI6oTL rr@ éreinugd

(A)  seps sHSS) (B)
€)  <den sHSS) D)

Qgmpley @LQL‘D

@eomuib

subjective/psychological concept

scientific concept

o @TemanTiTay /&b HmIb eeralluie) &HESI
2ifleflwed smss!

028/DM/19
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13. In the long period
A All factors change
(B)  Only variable factor change
(C)  Only fixed factor changes
(D)  Variable and fixed factors remain constant
BerL srevdble
(A) e smyemflaEhh wrmwb
(B)  wmmb sryenll b Hb wrmibd
(C)  wmpmsryeni G wrmb
D) ommb bpmyb wrprsryailadr Blaewirs @ éeEn

14. The initial supply price of land is

J@  zZero (B) greater than one
(C)  less than one (D) equal to one
Blevgdler o, ribu siaflliyefiane
A) ymelub B) gamsEb sidswreang

(C) aqamésb Gonereag D)  qem&sb Fwwreng)

15. Average fixed cost is obtained by dividing

)  TCIQ ) TFC/Q
(C) TvCQ , (D) TFC
synedl wrpréQawe Qg eugaEd Curg daL &gl
(A)  TCIQ ' (B) TFC/Q
(C) TVC/Q : (D) TFC

16. Perfect competition is a market situatiorn where wé have a single seller
(A) asingle sellér (B) two sellers

A0 large number of sellers (D) few sellarm

5Cr efpuemanunart Heapeayls Cur g SikisTquded sramiu@ib Hea
(A)  @CGreilpuemarumenr B) @Qran@ epuenernmeTt
(C)  eaavaflsmasulaear eNbLeamemimert (D) Sewedpueenumart
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T Profits are the reward for

@A) land ‘ . (B) capital
(C) labour Qm organisation
@erub @sparer Qei@Ens | |
(A) Bl B) epegend
© sy D swiy

18. The central prjoblem in macro economics is

A’ inco.me and employment (B) price and output

(C)  interest and money _ (D)' none

Cuilwe QurmersTrsHe ewwll Ayssaner

(A)  eumwrerpb Galenea eumILILD B) &emeujib GeuafluiHid
(C)  euliqujtb LieT(pLd D) ggboame

19. A coin is tossed 6 times. Find the number of points in the sample space.
@) 12 ' Wy i 8 B T8 -

© 32 | D) 64

S Brawih 6 (penp saTLUILGEDE) erafled sam Qeuafiufier o_drer Guongs yarafise
a)y- 12 | | (B) 16 ' :

(C) 82 (D) 64

20. A random variable X has E(X) = 2 and E(X2) = 8 its variance is
D 4 - B) 6
€) 8 ‘ D) 2
g swamiii orh X @& EX) = 2, E(X2) = 8 araflé wigen ompunLaraa
A 4 (B) 6
© 8 | D) 2
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ROUGH WORK
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DEPARTMENTAL EXAMINATIONS

DEPARTMENTAL TEST FOR EVALUATION AND APPLIED RESEARCH
' DEPARTMENT

(Without Books)

Maximum Time : 2 hours _ _ Maximuim Marks : 80

IMPORTANT INSTRUCTIONS

DESCRIPTIVE TYPE
Sfleures eflenL weflG@D auans eSlammSsmer

Read the following instructions carefully before beginning to answer the questions.
Aamésenss el wallés QsTmi@h (e Shssam Sibla|mismaer GaUaILDTE Ll &5a|Lb.

1. Answers in excess of the prescribed number of questions appearing at the end of the answer
book will not be valued.

aflenL_sanar GO erer eramanflGansdE Sifawnns apdulmidern eflmLssneflar @mnduie o erer :
<ifls araaniGasuforen eflenger LHUEE el Tg.

2. In case of doubt, English version is the. final.

eflanmésaiier epCasllHUden rhida ageile darhésiur (bHarer oflenméssGar @mndlwreng.
I. Answer any FIVE of the following : _ (5 x 2=10)
creanaulGuiend mhg) aﬁ]eﬁwé&&@éﬁ@ eflen_weflGaa|b :
1. Explain the concept “Economic Development”.
QUTBETTSTY GUGTTES GTEmTE ETET6n ?
2. Write a note on national populatioh policy 2000.
GCalw wéaer Asrenss Garerens — 2000 g umm TG!S
8. Why do we resort to sampling?
eyt B rdflé asmﬁusmu BrHEACDTD?
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1.

What are the forms of capital?

PG ETSHHGIT GLIq 6L BIGET WITEnEU ?

What is discrete probability distribution?

saflEg Ligald) &My eremmmed eremes ?

Write a note on take-off stage.

Qurmermsmy Gubawp Hlene (take-off stage) erempréd eremen?

What is vicious circle of poverty?

‘aumientp amHD @GLped’ T 6T6TEw ?

Write the short notes on any FIVE of the following :

SpsanLaipop gCsmib ghsmsE AnEHuy eimys |

Explain the need for economic planning.

L5l (hsedlan oeudlugens afleu.

Write a note on Reserve Money.

Qeuyuentd — Ay GHILY (9.

Distinguish between total and marginal utility.

Qurést uwerun (), @oidHlanes uwerur® Ceumiu(HEsis.

What are the functions of entrepreneur?

Gsmge apenenGeurier Lawflser wraneu?

Explain the canons of taxation.

auffl eNdlys Qarerensanws efleul.

Write a note on Theory of Demographic Transition.

(5 x 4 = 20)

wéser Asres wrppn upBlw (Theory of Demographic Transition) Gamum’igener afleurl.

What does national income at constant prices mean? «

Blenawirar eflanaouiley Bl H eu(pTeTEmSE SaTédl (Heug) aranug) eTHMen 2 aisgiHng ?

028/DM/19 2



'III' Answer any FIVE discuss the following : (5x10=50)
Spssan_cupenn gCseaib mpdaen efleundésea)b :
1:; Design a questionnaire to collect primary data about the mode of transport used by your

office staff. Prepare the schedule and classify the data and tabulate it and analyse the tables
using percentage analysis.

2 mGeT glanmudlen umﬂ@nmr’raseﬁlcrmmmas Gurs@earsg srpamismen LweUBSgdlamant eremp
@geb Hlenaw efleupmisener eSlenmiingeud epad Goafdg) Sjeueileugriisane L euaneTliu(pSH
efleufl? ‘

2. Write a detailed note on one-tailed and two-tailed tes_ts'.

R (pever LHYIDL @ cpeen Congmensmar LpBl eflfleurear el & sma?

3. What are the basic characteristics of under developed countries?

e gradlw prisefler Aplifwdyser wraneu?

4. Describe the functions of commercial banks.

cuemila oumldlaeflem umﬂgsemm cfleTé (G s.

5. Explain features, merits and demerits of socialism.

gwsTsHer LA samerw b, ApliLsamerb, Gampaameru|b efaTéEs.

6. Define tax and explain the kinds of direct taxes based on their basis of the degree of
progressiveness?

aufl eremueng aJsmr;uJ@J. Gory afsallar amssdr, afldamn/aldsn erflurs (degree of
progressiveness) wimened?
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